"RPA  RUIDA WORM GEAR

® EORS WARE

Ingenuity products made in Ruidal

2 g AeERER
2 m%#%:0577-67973222 67955999]

RUI DA

I 1A

RUIDA
WORM GEAR IxiXif5e

RDW 5 - Z QD3 _ | g[‘ﬁ 0 EEI?E ingﬁ]%% %%:E
Eanen PARTIAL ROTARY VALVE

BA—ATHEFE

~ ABOUT RUIDA

=

ﬁgg%g Eﬁﬁgﬁﬁﬂﬁljﬂﬂ{ﬁﬁg jttﬂﬁtl@@é@ﬂ'] rr{ﬁ Ruida Automatic Control Valve Co., Ltd. |5.Iucaied in N.u. 3,

" Huangbentun Industrial Zone, Gaohu Town, Qingtian County, Lishui

D R | V E ? - ‘H?J(FE = magiﬁﬂgﬁﬁmﬁlﬂ-t3?n 75 City. The company is a large-scale enterprise that produces valve

> LY - FAS— EE FE] 3 E £ Aﬂ.li , self-control drive devices in China, specializing in the production

gl\ﬁV&E}thi &EJEEIP\]‘ ‘Ftﬂlj?ﬁﬁﬁﬂfﬁﬂﬁﬂxnﬂjm of valve drive devices. Its products are strictly designed and

gﬂ;#lﬁljgﬁﬁ]ﬁggﬂiﬂn HFHD FE%E proeduced according to the requirements of 1509001:2008

Cwe Lo TeTclo el lolalolnlolal nu

: " pot o excellent processing equipment, perfect inspection means and

RDW7-ZQD1 149 125 126 160 16x2 8-M16X24 M BEFRANEHEE , MTIREBR 8 scvanced production technology. Strict management,

HDWS—ZQD2 176 387 473 385 150 141 300 200 254 5 70 18x2 8-M16X24 gﬁaﬁgﬁm == EFIE?&:‘[&D %ﬁ)_‘-ﬂz% , %ﬂ!?ﬁﬂ;ﬁ institutionalization, procedural, and scale. Its quality enjoys a high

o o o reputation in the “peer industry” . According to years of

HDWQ_ZQD2 198 405 528 435 150 156 350 230 298 5 80 22x2 8-M20X30 ﬁ-"‘- ﬁz‘r#'_ﬂ:’\ mﬁ{t" HEEE Elh}mlj\] s‘ﬁm production experience and domestic and foreign use units, the

RDW10-2QD3 218 447 608 500 150 172 415 260 356 = 100 28x2 B8-M30X45 %%E{J%Dggn *Eﬁgﬂzﬁgng:%g@*u@ P\]‘S’HEFHE requirements for the drive devices of valve products are constantly

RDW11-ZQD4 252 481 706 600 175 200 475 300 406 8 110 32x2 8-M36X54 i@ I S B B R AN, Sl

RDW12-ZQD5 281 570 850 710 175 225 560 370 483 8 130 32x2 12-M36X54 _ ”‘: S has 'de“‘?‘”“_":’ : ‘:“”e“" o ““"‘j}d”“”‘_g

=D devices based on comprehensive information resources. The main

RDW13—ZOD6 355 663 990 870 210 280 560 370 483 8 160 40x2 20-M36X54 ATDFI%\&!E mﬁjﬁﬁ?gﬁﬁljgﬁﬂ]ﬁ products are RDW series, RDAB series and other types of valve
RDW14-zQD7 405 733 1110 940 210 316 686 470 603 8 200 45x2 20-M36X54 B, IEanﬁRDW?ﬁﬂ RDABRIIFREMRIII  arive devices.

RDW15-zQD8 470 812 1316 1130 300 365 800 620 720 8 240 50x2 20-M36X54 HMEE, The company adheres lo the management tenet of

“scientific and technological innovation, gquality and

RDW16-ZQD9 580 950 1597 1350 300 439 1150 620 950 10 280 63x2 20-M36X54 ATER RSO EEMIV" BERERE . development” . *sesking development with science and

iﬂﬂﬁt E&R#mﬁ|805211ﬁ=&; gp%ﬁ%*ﬂ&ﬁ*ﬁ'f#q:ﬁtﬂo I < e T T technalogy, stabilizing with eredit, and customers above all” s our

L)\ﬁl.ﬁﬁz-iﬁ ! LAEE*%E‘ ' QF%? ﬂj ' guideline and guide in daily production activities. Constantly

%ﬁﬁ]&a "%’EFiﬁﬁJEFB‘HﬁHW?Eﬁ., Z:%EE’JEZ‘;: develop new products and dedication to provide more and better
ﬁi?‘zﬂ ) ﬂ%i}ﬁ?ﬂ ﬁl‘]ﬁﬁ{:&{%ﬁgﬁﬁﬁﬁﬂﬁﬂﬁﬂﬁ ‘.fal\.fe accessories f.ur the valve industry culleagues. and we are

willing to go hand in hand with you on the road to success and

F:ﬁ': ' I%-E{QTEEEDJE@%E%J:%¥#E ' nﬁ]ﬁ*see create brilliant.

RASH

bk BWNHE HiH 48 15 e R 22 ER 1R IS fic = : 15 BL K 1
NM NM 1.0MPa .OMPz 1.0MPa

RDW7-ZQD1 480:1 9000 800-900 500-700 500-550
RDW8-ZQD2  480:1 125 15000 1000-1050 750-900 600-700

RDW9-ZQD2  545:1 150 20000 1200 1000-1050 750 q Iw E E F{ I‘ﬁ ‘1 ﬂﬁ 1ﬂ ﬁ BE FAN —l
RDW10-ZQD3 520:1 230 30000 1300-1400 1200 800 t L I b

®

#: RUIDAAUTOMATIC CONTROL VALVE CO.,LTD.

RDW11-ZQD4 680:1 350 60000 1500 1350-1400 850-900
RDW12-ZQD5 700:1 460 80000 1600-1800 1500-1600 1000

. NEIT = 4- = - T e == = =
T ees BERGR SR 55 o BRALDL : TR kB A7 S PR | RTATKTERESMREAH TIX3S

Oubei office: No.17, Xinhua road, Oubei town, Yongjia county, Factory Add: No.3, Huangbenyang industrial zone, Gaohu town,

RDW14-zQD7  720:1 900 160000 2200 2000 Wenzhou city, Zhejiang Province. Qingtian county, Lishui city, Zhejiang Province.
RDW15-ZQD8 1300:1 1000 320000 2400 2400 E3iE/Tel : 86-577-6797 3222 6795 5999 FBi&/Tel : 0578-6692166 iiﬁ I E } “ﬂ I I ﬂi 'ﬁ ﬁ BE ﬁ
RDW16-ZQD9 1260:1 2000 640000 3000 3000 f&H/Fax : 86-577-6737 1899 f&E/Fax : 0578-6692066

RUIDA AUTOMATIC CONTROL VALVECO.,LTD.

BB BREARESE, EUME A XA, Qe dlozeaast ahipyfeienavcom




& IhikiEEe ruas s & kg s s & mixge ons i & Tikemse

1% RUIDA WORM GEAR Ingenuity de in Ruidal : RUIDA WORM GEAR Ingenuity W RUIDA WORM GEAR Ingenuity prod : W RUIDA WORM GEAR
SMNGIEERY ] | (— R EThE = i) 7Y g it
RDW?@J 152 IEIE Hﬂl]( RIEHEE) RDWRFIE o Bl B Fah =Kl JIRah= & (= R b5 Eah) RDW R %I EB 53 [E14% BYEB 3NN R iR IR aha= B (R ih4e1Esh) RDW R %I EB55 [El4E BL B 3 — 2RI IR E
RDW 1 A B - RDW 5- Z S B A RDW 5 - ZFD 2 A B RDW 5 - QD1
BB E I s
P ) 5 £ B 7(JB2920) E?@EE%MSOSEH)
FaasL b Wik S
e teh s &
' BEHES BIRATS o IMNEREERYE IMERERR T %R
e SR EXSSNN 0 R M R R P I
o e o s o | de [ d | di
85 1slelolo e lnlalalslnlalal i = oL N-M-L
9|‘H’&L}§RTI'$§ IMNERERR T E :gxz ;E% 122 232 ii; 23 14 112 ;g 122 1;0 0 12 iﬂ;ﬁﬁ; RDW4-QD1 80 e e 4-M12X18
- 5 5 145 5|65 RDW5-QD1 103 141 267 220 150 100 175 100 140 4 40 12 4-M16X24
|J o
-ﬂ-nn-m“-- N-M-L -ﬂ-ﬂﬂ-ﬂ--lﬂﬂ RDW7-ZFD1 149 275 403 325 145 126 260 160 200 5 60 16x2 8-Mi6X24 RDW6-QD1 132 196 3836 285 175 112 210 130 165 5 50 16 4-M20X30
RDW7-ZS 149 60 16x2 B-M16X24 RDWB-ZFD2 176 300 476 2385 145 141 300 200 254 5 70 18x2 8-Mi6X24 RDW7-QD1 149 217 413 325 210 126 260 160 200 5 60 16x2 B-M16X24
FIDW1 107 120 5  4-M6X9 = 355 473 335 400 1 41 300 200 254 5 T RDW8-QD1 176 242 478 385 210 141 300 200 254 5 70 18x2 8-M16X24
. RDW2 52 117 142 125 200 70 90 55 ?0 3 25 8 4-Mex12 ; — T EICHA/D- R 2] KISRN ka0 Eboed E155) RABSA BR661 £ ol (23 R0 bt il 12c) (8- AT | RDW9-QD1 198 276 568 435 300 156 350 230 298 5 80 22x2 8-M20X30
%‘ RDW3 68 132 170 150 240 74 125 70 102 3 30 10 4-M10Xi5 é’h/ i i RDW10-ZFD3 218 372 596 500 185 172 415 260 356 5 100 28x2 B-M30X45 ; = RDW10-QD1 218 296 631 500 300 172 415 260 356 5 100 28x2 8-M30X45
—R ErA B2 EiE B BEE B WEem Kk W EE B3 ) B e TR AL RDW10-ZS3 218 426 608 500 450 172 415 260 356 5 100 28x2 8-M30X45 RDW11-ZFD4 252 462 740 600 225 200 475 300 406 8 110 32x2 8-M36X54 3 RDW11-QD1 252 339 755 600 350 200 475 300 406 8 110 32x2 8-M36X54
i —~ ||f///A RDW11-ZS4 252 456 706 600 800 200 475 300 406 8 110 32x2 B-M36X54 BDW12-ZFD5 281 492 843 710 225 225 560 370 483 8 130 32x2 12-M36X54 - _u]:_‘_ _________ RDW12-QD1 281 369 858 710 350 225 560 370 483 8 130 32x2 12-M36X54
S W8 S I M) S D SRR Ml B N i A S | < i RDW12-ZS5 281 548 850 710 500 225 560 370 483 8 130 32x2 12-M36X54 B R HITISOS21 1R, BPASEERTEE R BHI: BERTHITISOS2N 1458, BABEERTELATHSRY,
BV 328 Rebe DR B=od ORISR £21.08 RSORS00 K6 k60 Mo NS 17 RDW13-7S6 355 645 990 870 800 280 686 470 603 8 160 40x220-M36X54 : RS
B EERTHITISOs21145#, BRSEERAEHARTHHRY, B BA: ERRIHTISO21145H, BERBSHERAERARLHHRE. BASH M | & R
e | ey P T g | e - o 3 £ " 15 BBk 1
B Lt L RAMY | BRPZGE [ER=({H0HE SEKRE h 1 IJ):rtﬂ{E o ﬁw? ki EE1 Uﬁr};fgnﬂ 11 OMPa
S5 RARSH sl BB | enm .OMPz : 1.0MPa - ‘
RS - — ' FOWE-Zr00 BBt — . e o ) RDW3-QD1 40:1 200-250 150 100
me |y | WAEE | SbRE | EEGLRE SRS E0RE EERE | S | s S d P e " 2:1,3:1,3.5:1 RDW4-QD1 50:1 o 300-400  200-250  150-200
== = NM NM 1.0MPa 1.0MPa : : bl RDW6-ZFDO  60:1 5000 700-750 450 450 = RDW5-QD1 55:1 220 3000 500-600 300-400 250-300
RDW1  30:1 27 200 50-80 50-80 50-80 RDW7-zS1 480:1 75 9000 800-900 300700 500-550 ROW7-ZFD1 60:1 , ., . 9000  800-800 500-700 500-550 RDW6-QD1 60:1 330 5000 700-750 450 350-400
RDW2 321 62 500 100-150 100-125 100-125 R BOO-1 BRI SO0 INOSTORCIS STE-) 600-700 ROWB-ZFD2 60:1 - '~ """ 15000 1000-1050  750-900 600-700 RDW7-QD1 60:1 600 9000 800-900 500-600 450-500
L 80 899 200-250 1% 1% F?Lg)\.\'::go_zzsszs ::112:: 19355 ﬁgg 13t:ozc:o4oo 100102_01(;) — ;gg e | B e | Ml 1200 1000=1030 2 R A e E i
SRR BCOS B = R 200-250 200-250 = : = RDW10-ZFD3 65:1 ' '~ 30000  1300-1400 1200 800 FADNVI=C00] K280 M 200 L 123 Lol el
RDW5 65:1 155 5500 450-500 300 300-350 RDW11-Z254 884:1 270 50000 1500 1350-1400 850-900 RDW10-QD1 65:1 2000 30000 1300-1400 1200 800
: = = : RDW11-ZFD4 68:1 , . , . ... .., 50000 1500 1350-1400  850-900 -
RDW6  70:1 170 3000 600 350-400 400 RDW12-ZS5 1400:1 228 80000 1600-1800  1500-1600 1000 3:1,4:1,5:1,6:1 RDWi1-QD1 68:1 3000 50000 1500 1350-1400 850-900
P — RDW13-ZS6 1428:1 336 120000 2000 1800 1200 RDW12-ZFD5  70:1 80000  1600-1800  1500-1600 1000 RDW12-QD1 70:1 5000 80000 1600-1800  1500-1600 1000
: Rt o \ BESS o WA BRSNS E, EE AR E ) LR SRR, WA BRSNS E, EE AR E ] LR ERR, WA EREfEMEE, AR MR EREAEITE,
od [ AN E = o =t T EI =t it OAY - g = 7
RDW 7 &R 5 [EI4L B F a4k i) 1R ah & (— ikfetEah) RDW??JE.B Iﬁliﬁi@ A BB = RDWERF &5 Bl BB = i) J3RahEE B (=R ihsei&nh) RDW RFIE5 Iﬁliﬁ FE 2R 8 )3 e ESEA )
RDW 3- D RDW 5- ZD3 B RDW 5 -ZFQD2
RDW 5- ZF S
| S : Jj — P B0 5 20 2(JB2920) R S IR (1S05211)
BEEERI(IB2920) [y fFay -t
Lobes RO S e g EI
= = =
FhEIE IFEHANRS IFRAERS IFRERS
\ o \ ‘
EHRETD 9I~H‘&L§%Rﬂ§ IMEREER I E '9HFJSiL§§Rﬂ§
IRRAES #) w2 5
i BN S=00 E0 N e N EN R K R 0 [ Y T NS T -E-ﬂ--ﬂlﬂﬂ
2 RDW3-D 10 4- M‘IOX15 RDW7-ZD1 8- M‘ISX24 RDW5-ZFQDO 12 4-M16X24
RDW4-D ao 139 237 175 145 85 15@ 85 125 3 36 12 4-M12X18 RDW8-ZD2 1?6 355 4?3 335 145 141 300 254 5 ?o 18)(2 8-M16X24
RDW6-ZFQDO 132 283 348 285 125 112 210 130 155 5 50 16 4-M20X30
RDW5-D 103 141 284 220 185 100 175 100 140 4 40 12 4-M16X24 RDW9-ZD2 198 384 528 435 185 156 350 230 298 5 80 22x2 8-M20X30
TR iE RDW6-D 132 170 341 285 185 112 210 130 165 5 50 16 4-M20X30 RDW10-ZD3 218 426 608 500 185 172 415 260 356 5 100 28x2 8-M30X45 RDW7-ZFQD1 149 307 403 325 150 126 260 160 200 5 60 16x2 8-M16X24
IMERERERI®R RDW7-D 149 200 421 325 225 126 260 160 200 5 60 16x2 8-M16X24 RDW11-ZD4 252 456 706 600 225 200 475 300 406 8 110 32x2 8-M36X54 RDW8-ZFQD2 176 332 476 385 150 141 300 200 254 5 70 18x2 8-M16X24
; RDW8-D 176 214 510 385 275 141 300 200 254 5 70 18x2 8-M16X24 RDW12-ZD5 281 548 850 710 225 225 560 370 483 8 130 32x2 12-M36X54 RDW9-ZFQD2 198 372 532 435 175 156 350 230 298 5 80 22x2 8-M20X30
1)
_-ﬂ-nn-““- Skt RDW9-D 198 234 555 435 275 156 350 230 298 5 80 22x2 8-M20X30 RDW13-ZD6 355 645 990 870 275 280 560 370 483 8 160 40x2 12-M36X54 RDW10-ZFQD3 218 392 596 500 175 172 415 260 356 5 100 28x2 B-M30X45
RDW5-ZFS0 103 230 291 220 240 100 175 100 140 12 4-M16X24 RDW10-D 218 265 646 500 330 172 415 260 356 5 100 28x2 8-M30X45 RDW14-ZD7 405 715 1110 940 275 316 686 470 603 8 200 45x2 20-M36X54 SR TR N il B I el e i O ) T s e
S FER Femel Pt v Bl Pemnt el B ey Ry e ==y B B RDW11-D 252 333 770 600 380 200 475 300 406 8 110 32x2 8-M36X54 RDW15-ZD8 470 813 1316 1130 330 365 800 620 720 8 240 50x2 20-M36X54 =
RDW12-D 281 363 873 710 380 225 560 370 483 8 130 32x212-M36X54 RDW16-ZD9 580 951 1597 1350 330 439 1150 620 950 10 280 63x2 20-M36X54 RDW12-ZFQDS5 281 491 843 710 210 225 560 370 483 8 130 32x2 12-M36X54
RO chsll AT |26 (A0, [925) (5001 | 129; [200; [H00 (2007 [8x (6D |8xa Sohitned WA EERTHITISO 1k, BAREERTELALHRRY, WA EERTHITISO 1, BAREERTELALHRRY, WE. EERTHTISOs2114RE, BASEERAERALHHRY.
RDW8-ZFS2 176 300 476 385 600 141 300 200 254 5 70 18x2 8-M16X24
200 176] HASH BRASH BRBEH
l: BRRYBUTISOS21IRE, BAARNERTERRIHDRE, Al ENHE KdeﬁHE BEERPLKE ER=HmOKE EEkE A WARE | WHEE | SRPSGRE ER=ROKE  EEHKE WM | B | ERPSEE [ERSEOEE  ERRE
NM 1.0MPa 1.0MPa = s NM NM 1.0MPa 1.0MPa 1.0MPa "NM NM | 10MPa | 1.0MPa 1.0MPa
BASH RDW3-D  40:1 200-250 150 150 RDW7-ZD1 480:1 75 9000 800-900 500-700 500-550 e pE—— s — yres s
_ RDW4-D  50:1 100 1250 300-400 200-250 200-250 RDW8-ZD1 480:1 125 15000 1000-1050 750-900 600-700 S =
we w | B ,\ﬁqa@ ﬁﬂmmg ERhEEE ERS o EE  EERE RDW5-D  55:1 220 3000 500-600 300-400 300-400 RDW9-ZD1 545:1 150 20000 1200 10001050 750 RDWe-zFQDo 210:1 100 5000 700-750 450 400
= el : 1.0MPa 1.0MPa RDW6-D  60:1 330 5000 700-750 450 450 RDW10-ZD3 52011 230 30000 13001400 1200 800 RDW7-ZFQD1 240:1 150 9000 800-900 500-600 450-500
RDW5-ZESO 165:1 75 3000 600 400 400 RDW7-D  60:1 600 9000 800-900 500-700 500-550 RDW11-ZD4 680:1 350 60000 1500 1350-1400 850-900 RDWS-ZFQD2 240:1 250 15000 1000-1050 700-800 500-600
: RDW8-D 60:1 1000 15000 1000-1050 750-900 600-700 RDW12-ZD5 700:1 460 80000 1600-1800  1500-1600 1000 RDWS-ZFQD2 3404 330 20000 1200 900-1000 200
] I N 5000 S leTEL 450 450 RDW9-D 68:1 1200 20000 1200 1000-1050 750 RDW13-ZD6 840:1 600 120000 2000 1800 1200 e e S WG b e
RDW7-ZFS1 240:1 115 7000 800-900 500-600 500 RDW10-D 651 2000 30000 1300-1400 1200 800 RDW14-ZD7 720:1 900 160000 2200 2000 : -
RDWS_ZFS2 2401 165 10000 1000 750-800 550-600 RDW11-D 68:1 3000 50000 1500 13501400 850-900 RDW15-ZD8 1300:1 1000 320000 2400 2400 RDW11-ZFQD4 408:1 500 50000 1500 1200-1400 800-900
. RDW12-D 701 5000 80000 1600-1800  1500-1600 1000 i RDW16-ZD9 1260:1 2000 640000 3000 3000 RDW12-ZFQD5 420:1 760 80000  1600-1800  1500-1600 1000
W BRERRHSE, EHMEERERAEER. W ERARNMSE, RHMIREERAERE, WA EREERNESE, RRERETRERLR. W BRARNESE, BRI ERERR.




	页 1
	页 2

